Run 9255, integration on 12 samples

HG pedestal [ADC] LG pedestal [ADC]
2
1.5 1.5
2
1.0 3 Tk, 1.0 o % a oINS 1
(Y e Kaabote dogh " 0
0% © & T % 9% § se
O’ %‘ .;..;... P O [ i;..i.z;t.. “&
0.5 ..*. ® re® l ou.... 0.5 - . ® o sodd .$.‘ﬂo 1 —1
» ‘o. P ..‘ o »° ®
» ° S sl*3 3 ‘*:.}% .f. phe.
B R ' s 1“.... - £ A S RNCIIEY, - -2
® ® Qe
= 00| PYQ . uz’z..-‘}fﬁt 1 2 = 00 ifr-;‘io‘ -..;i-“:? 4,
> S oo ‘;.’ f."..“{‘. 1 > % o o"..t ”:.& 3
Fudna iy L9 L v S
e reare 1 A i AN
—-0.5 % ,*& e s o 4 —-0.5 .}1 i ‘?‘” :.. J -4
PRIV L ATs S B RS
9 ]
~1.0 1113 ] ~1.0 s’ 27, =5
-6 °
—6
—1.51 | EngilneeringCameraFrlame —1.51 | EngilneeringCameraFrlame
-1 0 1 -1 0 1
x (m) X (m)
s HG pedestal std [ADC] LG pedestal std [ADC]
' 100 1.5; 32
]
1.0 80 1.0 ’ 3 :.".‘ 31
p LSy
: .:Jﬂ v ? I o‘t..
0.5 -60 051 1 ° y ”. 100. 1 L 30
) ® ' .{‘ ’ ]
.c Py :‘&. o® t .*f
£ 40 | pemERalNe ke || o
= 0.0 = 007 Ll mer SR At
> S /% et T
20 ol d ot Ay PR ESRT 28
~0.5- —0.51 L@t A et O
ol ‘..’.o & :
Lo . TR PO O 27
PCCRRE S o
—1.0 1 —1.0; 3 ‘..x
-20 26
~1.5- | | EngilneeringCIameraFrgme —1.57 | EngilneeringCameraFrame
-1.0 -0.5 0.0 0.5 1.0 -1 0 1
x (m) X (m)
B HG Median -1.68, std 2.94 160 - B Median 34.29, std 1.80
100 -
140 -
801 120-
" " 100 A
g 60 E
40 1 60 -
40 A
20 1
20 1
0- 0-
—-10 -5 0 5 30.0 325 35.0 375 40.0 425
HG pedestal HG pedestal std
120+ BEE LG Median -1.81, std 2.53 160 mmm Median 28.74, std 1.78
140 -
100 1
120
80 1
100 1
n 0
g g
= 60 A = 80
60 -
40
40 -
20 -
20 -
0- 0-
—10 -5 0 5 25.0 275 30.0 325 350 375

LG pedestal LG pedestal std



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 9255, pixel 0
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Run 9255, pixel 0
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